Science 10 Review UNIT C BIOLOGY
Name: kL

Read each q&eJtion carefully. Circle the BEST answer and fill in the blanks.

Use the following information to answer the next three (3) questions.

Louis Pasteur performed an experiment in which he had several flasks of broth at
the same temperature and same light conditions. He had one flask that allowed dust
to enter and a second flask that did not allow dust to enter. Pasteur found that mould
grew in the flask that allowed dust to enter but not in the oue that did not allow dust
to enter. He then allowed dust to enter the second flask and found, later, that mould
grew in the second flask.

1. The conditions of same temperature and light conditions are called

. responding variables C. manipulated variables
B. ) controlled variables D. experimental control
2. The flask that was open throughout the experiment is-called the
A. responding variable manipulated variable
B. controlled variable D. experimental control

3. Themould that grew in the flask is called the
A. jresponding variable C. manipulated variable
B. controlled variable D. experimental control

4. Which of the following statements is not part of the cell theory?
. Cells come from pre-existing cells.
@ Cells can form spontaneously from non-living matter.
. All life functions take place inside the cell.
D. All living things are made up of one or more cells.

5. A system that is able to exchange matter and energy with its surroundings is
called a(n) .
A. basic system C. free system
B.\open system D. empty system

6. Which statement is true for both plant and animal cells?
A. They have a cell wall.
. They have chloroplasts.
C.)They have a Golgi apparatus.
. They have very large water vacuoles.



7. The solvent that provides the environment for all biological reactions is
A.)water C. nucleic acid

. cytoplasm D. oxygen

8. The-cell membrane consists of
A.)two layers of lipids, each with a phosphate group attached
B. sugar molecules attached to a protein layer
C. two layers of carbohydrates attached to a lipid layer
D. asingle layer of lipids with a phosphate group attached on each side

9. Another name for the cell membrane is
A. phospholipid bilayer membrane
B. fluid-mosaic membrane nnoO€ N

. lipid membrane X<
D. Jplasma membrane
10. Membrane-bound sacs in which digestion occurs are called
A./lysosomes C. mitochondria

B. ribosomes D. Golgi apparatus

11. Rod-like structures where reactions occur to convert chemical energy in sugars

into energy the cell can use are called
A. lysosomes @mitochondria
B. ribosomes D. Golgi apparatus

12. Which part of the cell receives substances from the endoplasmic reticulum and
prepares them for transport out of the cell?

A. lysosomes _C. mitochondria
B. ribosomes D.)Golgi apparatus
13. Match each description or function with the correct structure or term from the
following list:

A. 1. cytoplasm ii. cell membrane 1i1. endoplasmic
reticulum

B. iv. chloroplast v. lysosome vi. central vacuole

C. vii. nucleus viii. lipid ix. equilibrium

1) a, aseries of small interconnected tubes that branch from the nuclear envelope
\/1\_b. an organelle that contains the genetic material of the cell and directs all cell
activities '
\\|__c. astructure containing chlorophyll found in plants and some protists
N\ d. alarge, membrane-bound structure in a plant cell that causes the cell to
become turgid when filled with water
\ __e. a gel-like substance inside the cell membrane that contains the nutrients

required by cells
\\__f aprotective barrier for the cell



14.

13,

16.

L7

18.

19:

20.

21.

The movement of water across a cell membrane that does not require energy is

called
bosmosw C. facilitated diffusion
B. hypertonic diffusion D. active transport

Which factor determines whether movement across a cell membrane is active

transport or passive transport?
E A.,) energy use

B. direction of movement
C. the concentration of solutes
D. the type of molecule or particle involved

: \ .
A. osmosis C. endocytosis

A white blood cell engulfing a bacterium is an emai/e of
. facilitated diffusion

B. exocytosis

A membrane that allows only certain substances to pass through is a
A. porous membrane C. impermeable membrane
B. transparent membrane D. semi-permeable membrane
Which method allows the cell to move particles against the concentration
gradient?
A. osmosis _C. facilitated diffusion
B. hypotonic diffusion @active transport

) diffusion C. active transport

Sn@ubstances soluble in lipids can pass through the cell membrane by
A
facilitated diffusion D. attaching to carrier proteins

A hen’s egg with the shell dissolved is placed in a 10% salt solution. Relative to

the interior of the egg which has no salt, the salt SO&LSH is
@

A. hypotonic .) hypertonic
B. isotonic D. semi-permeable

A process in which a vesicle fuses with the cell membrane then ruptures to expel
wastes to the outside of the cell is known as

. 0SMOSis C. endocytosis
B. \exocytosis D. plasmolysis



22. Determine whether each statement is true (T) or false (F). Place your answer in
F the blank space given.
a. When a cell is put into an isotonic solution, individual water molecules cannot
‘ move back and forth across the cell membrane. '
g b. When a cell is put into a hypertonic solution, there is a net movement of water
‘ molecules across the cell membrane into the cell.
F c. When a cell is put into a hypotonic solution, there is a net movement of water
~ molecules across the cell membrane out of the cell.
L d. The movement of any solvent across a semi-permeable membrane is called
0SMOSIS.
T e. Carrier proteins have the ability to change shape and physically move
- molecules across the cell membrane.
E f. In facilitated diffusion, the concentration of the molecules to be moved across
the cell membrane is higher inside the cell.

23. Proteins that stick out of the cell membrane and allow cells to recognize other
cells or recognize foreign bodies, such as bacteria, are known as
_A._synthetic proteins
B. Jrecognition proteins
. receptor proteins
D. model proteins

24. Future treatment for diseases, such as HIV, involves
A. the removal of receptor proteins from the cell membrane
_B. blocking recognition proteins on the HIV virus
C. )blocking receptor proteins in the cell membrane
. adding recognition proteins to the cell membrane

25. Gene therapy for cancer treatment involves
A. using liposomes to deliver medication to cancer cells
. blocking receptor proteins in the cell membranes of cancer cells
@uging liposomes to introduce DNA to cancer cells so they produce toxins
. using liposomes to introduce DNA to healthy cells so they do not become

cancerous

26. Read the following list of statements regarding insulin action in the body.
I. Insulin binds to receptor proteins.
a. II. Insulin is released by exocytosis.
b. III. Binding stimulates processes in the cell.
c. IV.Insulin travels through blood.
i. Which is the correct order of the statements?
A, LILILIV
B IV, 1L L I

I, L, TN, 1L
L. Jl, B¥..1, 11



27. Water moves from an area of lower water concentration to an area of higher water

concentration in
A. 0smosis
. diffusion
reverse 0Smosis
D. facilitated diffusion

28. Which statement regarding hemodialysis is true?
The dialysate fluid flows into the abdominal cavity through a catheter.
@The blood is circulated out of the body for cleansing and then returned.
C. The patient is able to move around during the procedure.
D. Wastes move from a region of lower concentration to a region of higher

concentration.

L starch

glucase |
salution

solution
water

Beaker A Beaker B

29. What will happen in Beaker A?
A. Nothing will happen.
B. )Glucose will move from inside the dialysis tubing into the water.
. Glucose will move into the dialysis tubing.
D. Water will move out of the dialysis tubing.

30. What will happen in Beaker B?
A. Nothing will happen.
B. Starch will move from inside the dialysis tubing into the water.
C. Starch will move into the dialysis tubing.
G)/ Water will move out of the dialysis tubing.

31. You can check if starch moves across the membrane by performing
A. aniodine test on the starch solution inside the membrane
B.)an iodine test on the water outside the membrane
. a glucose test on the water outside the membrane
D. aglucose test on the starch solution inside the membrane



32. To operate efficiently, a cell must
A. be large

have an impermeable membrane
ave a large surface area to volume ratio
. have a small surface area to volume ratio
33. Which of the following is true about a larger cell?
A. More wastes must leave the cell.

B. More molecules must move through the membrane.

D. all of the above

@Distances from the cell membrane to various organelles are greater.

34. To reduce the dependence on diffusion, multicellular organisms have
A. reduced cell size and the number of cells
B, developed thinner cell membranes
’developed other internal transport systems
. all of the above
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Science 10 Review Assignment

UNIT B PHYSICS

Name:
Read each question carefully. Circle the BEST answer and fill in the blanks.

ich statement describes an object travelling with uniform velocity?

. Wh
object moves with constant speed along a straight path.

B. An object moves with constant speed along a curved path.
C. An object moves so that an imaginary line segment from the object to a reference

point changes in length.
D. An object moves so that an imaginary line from the object to a reference point changes

in direction.

2. Which distance—time graph most closely represents an object moving with

uniform motion?
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3. Which speed-time graph most closely represents an object travelling with
uniform motion? O

Al '
Speed-Time Graph Speed-Time Graph

Speed v
Spead v

Time t Time t

D.
Speed-Time Graph L Speed-Time Graph

Speed v
Speed v

Time £ Time t

4. What does the area under the line of a speed—time graph represent?

A. acceleration
B. average speed

G elapsed time
ea istance travelled



Use the following infermation to answer guestions 5 and 6.

)

5. What is the slope of the graph?
A. 4.4 cm/s
. 8.0 cm/s
.0 cm/s
D. 13.5 cmm/s

C. distance travelled
D. average acceleration

Use the following information to answer guestion §.

8. Which statements are correct?

A. statement [ only
staternents ITand IV

C. statements II and ITT

D. statement IV only



7. The following ticker tape shows the data of a moving object.

0.10s 0.305 0.50s 0705

|1
£ - L L - . » L) !

0.00s 0.205 0405 0.60s E

Use this ticker tape to answer the questions that follow. Show your work in the
space given.

a. Complete the data table, showing the motion of the object.

.20 | 0.30 | 0.40 | 0.50 | 0.60 {}.?0]

1730|255 | 355 H L5 (520 b.zoJE

b. Draw a distance—time graph based on the data table. Include a line of best fit.
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9. Which quantities of motion are vector quantities?
A. speed and displacement
. speed and distance travelled
elocity and displacement
D. velocity and distance travelled



10. An airplane travelled at an average velocity of 250 km/h [E]. The resulting
displacement was 625 km [E]. How long did the trip take?
A.250h
.3.75h
C.425h
D.4.50h

11. Based on the position—time graph for an object, what is the average velocity
of the object for the first 10.0 s?

A, 1.8 mfs
B. 1.80m/s

> 1.8 m/s [E]
1 80 m/s [E]
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Use the following information to answer questions 12 and 13.

ﬁa b*ﬂi miie«:ﬁ 2_.{} m {E} in H} 0 < hlt anb 'ta_cle, and mileci ;Stf‘ﬁé,ht imv.;:k mﬂ the
{‘:C)Hlblf)ﬁ the b‘lﬁ roiiad 8 {Iﬂ I {"&f] in 6 00 S P o

2. What was the average speed of the ball?
1.25 m/s
B. 0.250 m/s
€. 1.25my/s [E]
D. 0.250 m/s [E]

13. What was the average velocity of the ball?

A.1.25m/s
B. 0.250 m/s

- 1.25 m/s [E]
@.250 m/s [E]




14. Which of the following is a vector quantity?
speed -

weight

. distance travelled

D. mechanical energy

Use the fellowing information to answer guestionis .

15. In which of these ways would the car be moving with positive acceleration?

A.Tonly

B. IV only

C. II and III only
and IV only

16. The position—time graph given describes the motion of an object. During which of the
intervals (I to IV) is the object undergoing acceleration?

A. Tonly Position-Time Graph
B. Il only i Py
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17.
Which position-tirne graph indicates negative accsleration?
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Which velocity—time graph indicates positive acceleration?
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. distance
Tvelocity
C. acceleration
D. displacement

@Which of the following is a scalar quantity?
A

20.
What is the work done in lifting a bag of potatoes 1.24 m above the ground
with an upward force 88.7 N?

A, 1.40x 107
. TA5x 10T
C)1.10x 10°]
D. 220x 10*]

21. Suppose there is no unbalanced force acting on a moving object. How will the
object’s motion continue?
A. The speed of the object will decrease.
. The speed of the object will increase.
@ he speed of the object will remain the same.

. The direction of the object’s velocity will change.

22;

& V. ; v % o
An elevator does 9.75 x 10" J of work on a person riding up to another
floor. How much energy does the person gain?

A 0]
_B. 9.94%10°J

C.)9.75x 10']

D. 9.56% 10°]

23. Complete the following statements by filling in the blanks.
a. A(n) orce is a push or a pull on an object.
b. The application of a force through a distance is called \,O(\;( \C

24. A car on a hilltop, a fresh battery, a stretched elastic band, and a tank of gasoline each
have energy. What kind of energy do they all have in common?

. kinetic energy
B. potential energy ‘
. elastic potential energy

D. chemical potential energy



25. Match each type of energy with the description that BEST suits it. Place your answer
in the blank space given.
1. energy due to an object’s motion and position
ii. energy of motion
iii. energy due to an object’s position above Earth’s surface
1v. energy due to fusion of hydrogen nuclei on the Sun
v. potential energy stored in the chemical bonds of compounds
vi. potential energy stored in the nuclei of atoms

) a gravitational potential energy
\\ b. kinetic energy

\/\ _c. nuclear energy

\V__d. solar energy

26. Pemican is a concentrated food traditionally used by First Nations peoples. What
specific kind of potential energy does pemican have that makes it a source of dietary
calories?
A. kinetic energy
elastic potential energy
C. chemical potential energy
./gravitational potential energy

. kinetic energy

- dynamic energy
C. physical energy
D. potential energy

éA moving body has energy due to its motion. This energy is called
A

28. In the formula Ek=1/2 mv?, the left side of the equation is in joules. Based on the
expression on the right side of the equation, Ek=1/2mv?, which of the following correctly
shows the joule derived from the fundamental units kg, m, and s?

A. ma/s2
B. kgem/s

%gz*m/ S2
Qz./ gemo/s2



Use the followmg mformatlon to answer the next four (4) questmns‘

*5; ::.plm“ is usﬂci EQ Emmﬂh a iwﬂ wath 4 mass ﬂf 1 O{} X iﬂ“‘ kg. The spzmjb is
camgrezysed 10.0 em using an 'werage force of 35.0 N. Fora faunch, the ball is placed
i 'sgamst ?he mov. 'xbﬁe ;mci of me s;:sr},ng am:E ﬂ“ze wmpres&eé spram:, is reieﬁsed

30
What is the work done in compressing the spring?

A. 035017
(BYs507

C.35.01J

D.3501]

31. Suppose the spring launches the ball sideways along a track. When the spring is
released, what is the kinetic energy of the ball the moment it leaves the end of the spring?
B 1237

B.1.751]

_£.2497
507

32. What is the speed of the ball the moment it leaves the end of the spring?
. 133 nv's
@6.5 m/s
. 85.7m/s
D. 700 m/s

33. Suppose the ball is launched straight up into the air. How high will the ball go?

A.0.100 m
B.10.1m

C.17.8m
D.35.7m
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34,

The relationship between the kinetic energy of 2 moving object and its
speed can be represented by a sraph, Which graph correctly shows this
relationship?

A,
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35
K Suppose some objects of different mass travel at the same constant speed.
The retationship batween theit kinetic energy and their mass can be
represented by a graph. Which of the following graphs correctly shows the
ationship bebween kinetic energy and mass?
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36. Match each description with one of the following terms.
i. combustion  ii. photosynthesis iii. respiration
a. a reaction in which light energy, carbon dioxide, and water yield carbohydrates and
oxygen \\
b. a reaction in which flammable hydrocarbons combine with oxygen to yield thermal

energy, carbon dioxide, and water |
c. areaction in which carbohydrates and oxygen yield energy, carbon dioxide, and water

\W\
37. Which BEST expresses the first law of thermodynamics?

A. TThe total energy, including thermal energy, in a system and its surroundings remains

nstant over time.
B. The total amount of kinetic energy and gravitational energy of a system and its

surroundings remains constant.
C. An object in motion tends to stay in motion with the same velocity unless acted upon

by an unbalanced force.
D. The total amount of mechanical energy of a system and its surroundings remains

constant.

38. Which statement represents the second law of thermodynamics?

A. Thermal energy always flows naturally from a cold object to a hot object and never
naturally from a hot object to a cold object.

B. There are some processes that can remove thermal energy from a source and convert it
entirely into mechanical energy.

C. Some mechanical processes can have an efficiency of 100% with no loss of thermal

_-energy.
@ ork is needed to make thermal energy move from a cold substance to hot substance.

39. Technological devices are designed to convert one form of energy into another form
of energy to complete a certain task. The energy that can complete the task is called
. EXCess energy
@ﬁseful energy
C. waste energy
D. input energy

40. Technological devices are designed to convert one form of energy into another form
of energy to complete a task. The converted energy not used to complete the intended
task is called

A. mechanical energy

. useful energy
@aste energy
J1nput energy



41. The efficiency of a device is the
difference between the useful work output and the total input energy
@a‘do of the useful work output to the total input energy
. ratio of the total input energy to the useful work output
D. sum of the waste energy and the useful work output

42. A hoist lifts a car with a total energy input of 6.73 X 10*J. The car gains 2.35 X 10°7J
of gravitational potential energy during the process. What is the efficiency of the hoist?
A. 7.00%

B. 17.5%

C. 25.0%

D. 34.9%

43.
An internal combustion e‘m{me has an efficiency of 20.0%. This engine is

used to deliver 6.00 x 10* T of work to the rest of the drive train. W hm is the
total energy input of the engine?

A, tmxm* T
B. 4.80x 1077
. 7.20% 10° ]

e
@wm 10°7

44. Globally, which energy resource provides the most energy each year?
A. conventional oil
B. hydro-electric power

wind power
D.'coal



Science 10 Review Assignment

UNIT A CHEMISTRY

Name:

Read each question carefully. Circle the BEST answer and fill in the blanks.

1. Standard eyeglasses are not enough protection in the science lab because

A.
.} there is no protection from the sides

&

D.

the lens may break

a standard eyeglass lens is not thick enough

standard eyeglasses may fall off

2. Match each meaning with the appropriate WHMIS symbol.

a.

materials causing -
other toxic effects \/\\

flammable and \/
combustible material

corrosive material \ \

materials causing immediate
and serious toxic effects \/ \\

compressed gas WA

biohazardous i
infectious material \

dangerously r
reactive material \ \/

oxidizing material \/

Vii. viil.




3. Match each description with the appropriate safety hazard symbol.

a. The contents are flammable. ] \'{ or vV
b. The contents are corrosive. \/ oY v
c. The container may explode. \\\'

d. The contents are poisonous. "\

4. Match each location with the hazardous substance from the following list you
would most likely find in that location.

i. oven cleaner ii. pesticide
iii. - toilet bowl cleaner iv. paint thinner
a. garage
W
b. garden shed
I\
c. bathroom
\\\
d. kltchen\

5. Sodium metal reacts vigorously with water. This is an example of a

physical property
B. ) chemical property
C. nuclear reaction
D. physical reaction



6. Which is an example of a physical property?

@solubility

B. ability to burn
C. behaviour in air
D. reaction with acids

7. Which indicates that a reaction has occurred after one substance has been
added to another?

A. Bubbles appear.
B. The solution turns cloudy.

The container becomes warmer.
( D.) all of the above
8. A chocolate chip cookie is an example of a(n)

A. element
B. atom
@ mechanical mixture
D. homogeneous mixture

?ld and helium are examples of B
elomonts, Dung SosSton@o

10. Water is an example of a(n) W\C\C( LL.&CLf compound
11. A substance freezes at -58°C. Therefore, the substance melts at ™ J Z) C

12. A model of the atom with electrons moving around a positively charged
nucleus was first proposed by

A. J.J. Thomson
@ Ernest Rutherford

C. John Dalton

D. Neils Bohr



13. In the modern quantum mechanical theory of the atom, electron movement is
thought to be a

particle moving around a positively charged nucleus

“cloud” of negative charge in the centre

negatively charged particle at a certain energy level :
@ “cloud” of negative charge occupying the space at a certain energy level

o w»

14. Which is not a property of a metal?

A. can be beaten or rolled into sheets without crumbling
B. can be stretched into long thin wire
C. agood conductor of electricity and heat

' @ a gas at normal temperature and pressure

15.Flu

orine, chlorine, and iodine are examples of

A. metals
@ non-metals
. metalloids
D. compounds
16. Lithium, sodium, and potassium are part of a group of elements called

U alkali metals

noble gases
C. halogens
D. alkaline-earth metals

17. Which subatomic particle takes up most of the space of an atom?

. proton
@ electron
C. neutron
D. nucleus



Use the Following diagram to answer the next three questions.
sl it

i

%‘-;;::""‘

18. What|s the atomic number of the element?

oF

B. 12
C. 22
D. 23

19. What is the mass number of the element?

A 11
B. 12
C. 22

20. Which element is it?

A. oxygen

B.) sodium

C. vanadium
D. magnesium

21. Decide whether each statement is true (T) or false (F).
T' a. An electron cannot fall into the nucleus under normal circumstances.
| b An electron in the outer energy level is called a valence electron.

K: c. Elements in the same period have the same number of valence

electrons.
=z

T e. An isotope of an element has a different number of neutrons in its
nucleus.

Positively charged ions are called anions.



22. Complete the following table. Use the periodic table in your databook

Element | Mass = | Numberof | Numberof
1¢ | Number | Protons | Neutrons

Number
_ of
Electrons
l.ost or

Gained

ol L lost2

24. Which type of bond is formed when one atom transfers an electron to another
atom?

ionic bond

B. covalent bond
C. polyatomic bond
D. multivalent bond

25. A charged particle made up of several non-metallic atoms joined together is
a(n)

A. covalention

polyatomic ion
C. multivalent ion
D. electron ion



26. The formula for ammonium sulfate is

A. NH4(SO4)(s)
B. NHSO4s)
C (NH)zSOZ(S)
@ (NH4)2804(s)

27. What is the name of the compound Fels(s)?

A. iron iodide

B. iron(ll) iodide
@ iron(lll) iodide

D. iron iodide(lll)

28. The symbol of the lead(IV) ion is

A. Pby
B. Pb%
C. Pb*

2 L

29. The name of the ion with the formula HCOj3 is

A. carbonate ion
B. hydrogen bicarbonate ion
e i
(C. hydrogencarbonate ion
D.) hydrocarbon oxide

30. The name of the molecular compound SCly(l) is

A. silver(ll) chloride
(_B/ sulfur dichloride

C. selenium chloride

D. silver dichloride



31. The compound Fe(NOg3)s(s) is classified as a(n)

A. polyatomic compound
B.  molecular compound

C. )ionic compound
. multi-atomic compound

32. Which compound dissolves in water but does not conduct electricity?

—

Qﬁ\) table sugar

B. sodium chloride
C. sodium hydroxide
D. hydrochloric acid

33. Which is an example of an ionic compound?

A. H0
B. CHgy
H.S

=
@ (NHe)5S

34. Which is a property of an ionic compound?

A. [t is malleable.

. ltis not soluble in water.
C/.,; It is a good conductor when it is in a solution.

. Its melting or freezing point is below 250°C for most ionic compounds,

35. A substance that dissolves well in water is indicated by its chemical formula
followed by

A. (s)
B.) (aq)
C. ()

D. (9)



36. A solid with low solubility that sometimes forms when ionic solutions are

mixed is a
A. solute
solvent

C.) precipitate
D. molecular compound

37. Which is a property of a molecular compound?

A. Itis malleable.
B. Itis soluble in water.

C. ltis a good conductor when it is in a solution.
D. ) Its melting or freezing point is below 250°C.

38. Determine the solubility of the following ionic compounds when added to
water by inserting (ag) or (s) at the end of the formula.

b. Au(NO3) \
e L&C'L/)

(=)
39. In a solution, red litmus remains red and blue litmus turns red. Therefore, the
solution is

(A acidic
B. basic

C. neutral
D. both acidic and basic

c. CuCl

40. A solution with a pH of 10 that turns red litmus blue is

. acidic
@ basic
. nheutral

D. both acidic and basic



41. When acids and bases react together to a point of neutralization, how are the

acidic and basic properties affected?

A. The properties remain the same.
B. The acidic properties are enhanced.
. The basic properties are enhanced.
B, j The acidic and basic properties disappear.

42.  Al(OH)s(s) is a base because it CD\”\)(Qin‘j \wldmdle

(OH)

43. The symbol used to indicate that a substance

is a solid is
A. (aq)
B. (9)
C. ()

@ ©)

44, The reaction for the combustion of methane is

A. exothermic and absorbs energy

N _
&_CB/ exothermic and releases energy
endothermic and absorbs energy

D. endothermic and releases energy

45. The equation for photosynthesis is as follows:
energy + 6 CO,(g) + 6 H20(l) — CeH1206(aq) + 6 O2(g)

This reaction is
A. exothermic and absorbs energy

exothermic and releases energy
C. ) endothermic and absorbs energy

D. endothermic and releases energy

46. The total number of atoms before a reaction is equal to the total number of

atoms after a reaction. This illustrates

A. that atoms are all the same size
the law of chemical reaction
C. !the law of conservation of mass

. that no new substance is produced in a chemical reaction



47. CyHy + O2(g) — CO2(g) + H20(g) is the general form of a

A. formation reaction
B. synthesis reaction

decomposition reaction
D. Jhydrocarbon combustion reaction
48. Calcium carbonate reacts with sulfur dioxide gas and oxygen gas to produce

solid calcium sulfate and carbon dioxide gas. The correct unbalanced
equation for this reaction is

A. CaCO(s) + SO(g) + O(g) — CaSO(s) + CO(qg)
B. CaCOs(s) + SOx(g) + Os(g) — CaSOa(s) + COx(g)
(cg.) CaCOs(s) + SOs(g) + Oa(g) — CaSO4(s) + CO(g)
. Ca(CO3)a(s) + SO2(g) + Oz(g) — CaxS04(s) + CO2(g)

49. A chemical reaction in which a compound and an element react to form a
new compound is a

A. formation reaction
B. decomposition reaction

e VI ;
kgy single replacement reaction
. double replacement reaction

50. A chemical reaction in which a compound is broken down into its elements is
a

A. formation reaction

@ decomposition reaction
C. single replacement reaction
D. double replacement reaction

51. Which is the correct unbalanced equation for
water + sodium — sodium hydroxide + hydrogen?

A. NaOH(aq) — HxO(l) + Hz(g)

(B H20() + Na(s) — NaOH(aq) + Ha(9)
C. H20(l) + Na(s) — Na,OH(aq) + Ha(g)
D. HO(g) + Na(s) — NaOH(aq) + H(g)



52. Which is the correct balanced equation for
copper(ll) sulfate + aluminium — aluminium sulfate + solid copper?

A. CuSOqg(aq) + Al(s) — Al(SQ4)s(aq) + Cu(s)
,B.\ 3 CuS0q4(aq) + 2 Al(s) — Alx(SO4)s(aqg) + Cu(s)
C. ) 3 CuSO4(aq) + 2 Al(s) — Al(SOq4)s(aq) + 3 Cu(s)
. 3 CuSOq4(aq) + Al(s) — Alx(SO4)s(aq) + 3 Cu(s)

53. Nl3(s) — N2(g) + Iz(s) is an example of a

A. formation reaction
Qi) decomposition reaction
C. single replacement reaction
D. hydrocarbon combustion reaction

54. Classify the following reactions.
a. CHs + O2(g) — COa(g) + Ho0(g) L\ijdﬂxa( bory  Combustion
b, Cs(s) + Sa(s) — Cs28(8) Fornation /6& nHools
c. nickel(lll) nitrate + calcium — calcium nitrate + nickel | \«0}1 {—Q,P\&Cﬂu‘"\fjr

55. Which element was chosen as the standard for defining a mole?

@ iron

. ) carbon
C. hydrogen
D. oxygen

56. How many grams is in one mole of CO,?

A 12.01g
B. 16.00g
C. 28.01g

D.\ 44.01 g



57. How many moles are present in 500.0 g of H,O?

A. 9010
B. 247.5
C. 3125

(;E))2175
58. The mass of 4.50 mol of calcium carbonate is

A

(f>)4sog
B. 306g
C. 100g
D. 450g

59. Atomic molar mass is defined as

A. the mass of one atom
B. Avogadro’s number of atoms
C. the mass of one mole of an element

QD% the average mass of one mole of an element
60. When calculating the number of moles of Na;SOQa4(s), the factor used is

119.06 ¢

Amol

142.05 g

119.06 g
1 mol

(;§i>1é*ﬁwv
1 mol

61. There are (0 OZX D particles in one mole.




